trig - 5.4 - quiz solutions, reference angles, cofunctions

2

Determine the quadrant (1, II, III, or IV) in which the terminal side of the givenangle lies.

1.-135° II

Convertthe angle from degreesto radians.

3. 135°

I 4

5'rr/3

4. 300°

=]

Convertthe angle from radians to degrees.

41 2 0
5. < 40
51 o
= 115
6 0
Matchthe term hel o the corresponding unit(s) listed below that could beused o describeit:
%,r ans rfeet/secomt , veunlutionstminute , degy@es , rotatigns , miles
7.angular cev/ .
speed /M\(\
™ -
8. arclength a .
ety
9. linear
speed /5

o

In the given 5-12-13 triangle, determine the given trigonometricfunctions of acute angles A and B.

10.sinB = \Z/IS 13.secA = ‘3/IQ- B
11.cosB = S/IS 14.cscA = ‘6/5 s )
12.tanB = lL/% 15.cotd = ,2/5 ‘
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Given that s:rﬂ,vzf,m: , v =rw , 5280 ft = 1mi

-

What is the linear speed, in miles per hour, of a car whose 20-inch diameter wheels spin at a rate of 528

revolutions per minute? Circle/box your exact, simplified final answer, including units.
V= ? M 5 ¢ =10 n ; W= SZ%VCV/M"(\
V=ruw
=K§m~5%?hw AR (i EGMHQW

Qe

Qe 42 52865 | h ey

formg]

1. Rearrange to solve for x. 4. Solve for x.
a? = b? + ¢? — 2bcx x2 =9
2 2 >
2bc X - b +C — A X _ —-‘r
2bc 2bc | —

bz-sz—- az
2bc

2. Rearrange to solve for x.

5. Factor completely.
a(x +10) =

oxX +10a = bX

Oa = by— -2 _
gaiens  pembed

2= =« (x2)(2x+ )

. 2QUIVE TOF X.

2x* —4x + 3xy — 6y
v~ L~

(x—3)2x+1D)(x+5)=0

XZ37% =S
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6. Factor completely.

2x? —3x 2

R el
/xg\—f( X—2>

(x=2)(2X+0)

7. Simplify.

rAr6 ;f—iz (X—F)(X/S (X/Z>(M
XD 2D (s

8. Rationalize the denominator.
, 1+ - 2+2r Q*Qﬁ A(~)- S_)
o — —71

N R T

9. Simplify by writing as a smgle fraction W|th rationalized denominator.

\E \r

—
—

(
7 2TE Sz 2 (_ \E,

N\")

10. Describe in words how to obtain the graph of f(x) = |x — 3| + 1 from the graph of f(x) = |x|.

r\gh* 3
we A

11. Given the following function f(x), find the formula for its inverse, f~1(x).

fx)=2x-1 7(*[”2%

UZZX—\ =
¥rl
K=2y-\ ]
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31

-7

Angles with the same reference angles have the same trig function values.

=% 2 <>< y j)

C‘K)-f]> Cx)-\tj>
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80. Given that sin27° = 0.4540, cos 27° ~ 0.8910, and tan 27° =~ 0.5095,
find the trigonometric function values for 333°,

| (110 p.4500)

=
&
(0 1210 - 0.4540)

333,
SN 333 = — 51021 = -0 4740
0532% = cos27 = 0.8710
Lg% = - f0ndd -0 2015

Rewcide the {0 Naw'\nj nterms o0&
Sinl0” amdpr coslO”

10 sinl0” o5& :
tan 80 =|sin 1o
sec. [CIO": _secl® 31N\210 = —%5in%0

cse 35F =~cselio® (ot 280 =~ A0

T KT e
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Homework:

Due Friday:

« 5.2 #35-410dd; 59-750dd

« 5.3 #1-350dd; 37-48all; 61-68all

e New: 5.4 #1-22 all; 33-67o0dd; 71-970dd

Test #1 - Wednesday, 11/20

Quiz #3 - This Friday
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